College Algebra Exam 1 Forms A, B  Dr. Rapalje

COLLEGE ALGEBRA EXaM 1 A NAME
SHOW ALL WORK ON THIS TEST OR ON SEPARATE PAPER. Circle answers.
TURN IN ALL WORKSHEETS. CALCULATORS ARE PERMITTED ON THIS TEST.

In 1 - 4, factor completely:
1. Y* + 2Y? - 4Y - 8 2. (X-Y)? + 7(X-Y) - 8

3. 2x* - 50%°y* 4. X5 - 64

In 5 - 7, simplify the fractions completely:

5 X2-2X-3  X*-3X 6 3 . 2a1 1

. +
X3+1 X2-X+1 a+2 a?-a-6 at3

_ In 8 - 9, simplify (rationalize denom):
XY= + yx— 12 2y7
b £ Sl 8. == 9. —
X2 4+ y2 V2 3 -7
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In 10 - 15, solve for X:

10. 2x! + 7X = 15 11. x + 1 = 4x 12, F= XX
Y+ X
13. 2 - X=yX+10 14, X 4+ _3 . 4

2 i
15. (X -21)2% + (x-1)3 =12

In 16 - 17, solve the inequalities. Give interval notation.

16. |2x-3| <7 17. x! - 2x 2 8
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3 3 1 1 1
18. X+ 2 4 7(X+ 2 19. = - =
( Y) ( Y) 5 [.Xa-h XJ
20. Use a calculator. 21. The area of a rectangle is 20
Give scientific notation or sg.cm. If the base is 3 more
round to nearest hundredth. than twice the height, find the

dimensions of the rectangle.
a) 800,000 x 900,000

12

b) 15.85
c) V73,500

d) 73,500
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CO‘-CéGf AﬁGé’ﬁ/‘?ﬂ ‘5//4”1 iA -5-@/“6;‘975

/. @145/-3 2. &-9) +7/X__g) _g 3 2x‘?_s-ox%4
_,gz(g+?) 4’(?"‘") -[&( %)7‘? é""d) -/ = 2% (}(—25‘34
/f”“ (4*4) X-g+8)(x-Y - ] @ xs5?)bct 52

a2ox-3 . X=3X

4. x% ¢4 =i 9kxis) $ Saar -x+/
ELETD IR R Lo
- 6. 3 _  2a-| A -/ x4
A+ mz) + 44—3 7. _Z_ E___ﬁ&- = i +&_, 8’{;&.3—:
3@-3)G+3) = (20 -1)(2+3) +@=3) (44-2.) X7 g7 X.__—r" e i
R +2)@-3)(a+3) x _3:3 (__H___.B = 1299
- Zalt— - + X y4* 2
- = ) 4 X -
‘ . » - ((a;z)\(a/a (44-3) . = ;w;: - %%b
- A9, z 3+ 0, 2x37x-ls =
. u/‘(3+\/‘) X% T R Y (%D,
—a-7 -"4X == T Y+X 44X+X—-7<+/0
= 2y7(3+V7) >< dx+ 4= -(+4 Fy+Fx = X4

X2 0
x @-2:3 _ Fy= x..;:x SYé

T (R & -
4. ,(_I X'f::" IS, éc_()_‘_ (X_D \;/é - C—I}
@*3)(&—1}

L=(x-)"3
X+3 4+ 3(x-2) = 4 © +u<.[2 /6. |a.x-..3l <7 &W;;-,w;g
et L o geanyel
14X =7 13

“ ‘ =—4 W= +3 +3
‘ L H T4 <2xX <D
7 X—-:-Zx_:;g(;x%fmes [(x D} ['4 TX-I)jéJ -—4z<¢>< <§

X = (— 27
XZax-g20 Endols. @ 1 L L
6<—4)o<+2)- €3 7 T Xa X

X=4 X==—2_ /8. é'f /’— 74_-_""&
(=»0 "2_] Uf) (x+ g) [X-f g +7 ><()<+72" lg

'OZ; ot 2l B x 2wl 2x¥3%-20= o h\[m_.‘./g
2.87 X100 2x+3=len .5€ _ .
c) 274,11 Gx-SHx+4)= 0

Dalsy eI GEEA) o w (B
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Cowece AtcencdA Exam 1ag Name

Shos all wrk om His Lest or o seoarie Lot re
Tarn in ALl a;-né&%e@ﬁ C;z/m/d?,lm"s are. Y‘Q?Wr'eﬂ/

/. 5/'/?1/)//"93 - i‘i’;ﬂj//zg :‘4, 2. 5/‘»1///.'2:
D 722748 faial 2
2vo-§
&) J72174¥

4, m«’*"ﬁ& (n m/aano’): s Fa.e,ér-wé{e/az é. F‘é?é""’?d/e%‘
xR x 1 §x = 4x+32 #x 2 25y

(7-%6«%7:/9&/3: g. Fachr myk/eg:& : e
@*27)?:—3(x+z33-/8 @xﬂ%; g(/,wﬁ

9. .5 _ _6 o, [+ 2=
2 2 xX—|
X=x-2 X4+ xX—6 A S

X+
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., e /e.r;’% 74\1&24"7‘2 2. S5l for xX: 2, So/:g fr X:
15 2 less ﬁé.. 3 Gmes (Z-l-j)a:. é X = 2(3?(—55
% N/‘J‘g. /‘Jv‘l'lé'& @
CxXpression (:'h rms 'KX)
or 4)% ,4¢r-r'n\¢\.l€r"

4)dl area..
4. Slve G- ~ = 1S; Sohre v ook /6, io/ve 5

Ini17-20, 4ive Inde el ngﬁﬁm:
17. {-2x 206 18 |4-2x,.>.:é 9 xiax<®

- In ‘20;2/,. g/ve selenaFrc néﬁ?ﬁ;) % mearesl han é/ree/ﬁé, .

20, Use caleolatre - 2(, Use a/mkzér: :
Q) 7,600,000 X 8 490,570 a) 7842 (3.45'-4- 7'9)
' 2o £ 92000
&) B¢ xn' 4.96 x 10 " V0. 00003
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Cowese AtcencA Exam Le SoLurrong

Shao all wrrk o His Lest o o7 S'g,o"mtlﬁ ;«r*. ,
Tarn in ALl 4 w-r»g.sfecls Q/m/dlé'rs are v\éj—mma(

2. litimalice 4 3. Simplity:

/. Sl'm/o/;'%
4)V727C7;g denm:(»—g;ér+ 3 —64)-%
- g - 4 I s (2V" +% 3
el [ @) N =y
A J=y¥ L Sl ) S
' -‘—3\1sz33 \/qx > 4-10 - 25" ] ¢ ‘9
4. Multip (’1 WA-J): Wé{e/ao é. F!&Zéf;my/e%: .
(x+2) x1 g yx+32 é
| @+1XX+LXX+L§ X(X—-E) —4(x-8&) (u'r?'>(4xtldxgl+zs‘a4
G Gty —
= X34 dxMax =R (x-2)(x+)
) +2X+ BX + &
Xs-kéx"-i‘@
: g. Factr 0-;«4‘/65
2 —/g : (+X) -+ Z(/./.
x+zg c)(x+z'3+3 i,+x\)é.il+x s
9. St é (m
x")(-lx*!) % . (x4 . Y
(X—LX)(J-I)( . Cx:: X—LO“) /- z_,.:,
SXt+is—-6x—¢ ( _
C)“"-XXT‘Y(Y-P) ) ) / )(_;I
‘ x—Ptl . x+l=]

! X x+l_ [ X+]
Xx—t X7 T\ X-/



. Te leagl faudf»ﬁé 12, Solve for x: 13. Solve for X =

:.s 2 less o 3trmes (x+3)‘=_ é x:.—. 2 (3x -
wh widdl. Weike x+3= Vg X=6x-10

e)‘/w?—ff/m( ferms ,Kx) X:éx . 4

for a) 24 perimeter 2/‘6’\':'?‘ —lo+ 3
4)%_ .d,g&. @"3) ‘.""/

Lt x= ’&7% xX- =
3x-1+

D= 2(x)+2(3x-2 "

k=t (XAt .A

for sl s/ 3 &,/ .
«{W‘ﬁ‘ﬂ (;_‘_Da-m (x«\\ s She ad bk ve :

%Cx—i) @.u)s@ %CX*L) = | —{sx+ x*0x%9 =0
//x-»s —x*=3%-3 3x-{-2J—+9£+/ @ 7)()‘ )=0
: 2Vl = 2X+ 2 (2-3)6(43)(1'”"*') =C
VST X+ (T3 X=-3 X X |
(ke: X o, 1,-1) ox+l= XX+ )

O=xtiyx

@%S-{I-WE

— ' n‘éc ﬂ.ﬁﬂf&ﬁm. . .
Th 17-29, } ve [nterve ,_,,memts i s
7. ge2x 26 & 4-2¢=6 1 xL:x &% |

ks
—2X 22 4 “2X2 6 o 4-2Xx<6 X -2x-% =0

-2 —ax£-10 (x=4)x+1) =0

X< X& - gl X=€ X==1

. 1;,2&-&(,7;‘#‘6 scientic "0"‘{’}’", % nearest éan./mJ{,é

20, e caledlatre: 2l. Use a/zakﬁr
a) 7,600, > X §,400,000 Q) 7942 ( 3,45 + 7.7)
4) #.6x0't e 496 %0 4 92070

Jo.00003 @g X /of )
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